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iy 7 i i i i i
x S Z R—4— Z R—4— Z R—4— Z R—4— Z R—4— Z R—4—
E2 4 E2 4 E2 4 24 24 24
BlEESRER BEET 6 | 24 4 | 26 um | 3 mo| 1| mLU 3 3 | 3 %3
5 0SB 6 | 224 @ | s | 26 um | 2| 24 | @ | 2| 2 0 0
;;:%;Jij ;j&) 8 N #
;;:;;ij ;i ) 4 % | 3 %3 | 6 %6
DBHDTR 6 #3 | 5 | 26  wm | 1 B | 2 w2 | 2 w2 | 2 2
ABOT KF=TH s | 24  wm | s | 26 @ | 1 - 5 3 | 2 B 11 %10
e 9 w2 | 2 | 28  um | 4 w1 | 4 ma | o0 2 2
&F 16| 26 | um | a4 w2 | 6 3 | 2 w2 | 6 6
B0 8 | 2 @ | o 2 w1 | 1 w1 | 1 1
. ;ﬁ%ﬁgi;;) 4 | mo 3 26 1 mo| s ms | s ms | 7 %7
™ ;E;T‘ji;) 5 %3 | 3 w2 | 3 %3
HO—)ULFy XHEFRTE 10 w2 | 2 w2 | 4 ma | 1 B | 7 ”7
HO—)ULFy XTHE 10| 26 um | 3 w2 | a4 | 26 0 4 ®a
a<BEHBN =17 10| 26 um | 3 w2 | 2 | mL 0 12 ®12
PO URER 10| 26  w@m | 2| 24 5 ®3 | o 9 79
£ 10 mi | 2 | 28 6 | BL 1| mu 2 w2 | s #s
BTG 9 | 22 wm | 2| 28 um | 2| 26 | w@m |5 | 2 0 0
HO—)ULFy XET—T HE 8 | mL 1 - 0 0 0 0
HO—)ULFy XBBEAE 6 | 24 @ | 10| 26 um | 1| mL 1 - 0 0
Firort 12 8 | o 4 %3 | 3 3 | 7 "7
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x ) El R—4— El R—4— El R—4— El R—4— El R—4— El R—4—
5 5 5 5 5 5
NMBREE BB 10 %10 2 %2 1 2N 2 %2 4 %4
FRUDHKREEDA 30 26 €] 2 26 €] 5 24 (2] 0 1 2N
=]
o}
AV REREBEDA 9 24 (2] 10 26 €] 4 U 0 1 %1 3 %3
J=2)5510) 6 %3 0
#FN—TH 12 26 (8] 4 %1 2 U 0 1 %1
HSEREEPIRIIHET 4 231 1 U 0
F—BU—IL—LA
R —RT— =k 6 26 (8] 22 26 (&) 12 %8 11 %1 2 %2 2 %2
BARBNEDPS 5 26 (8] 3 %3 5 %5 7 %7 10 %10
Eqatat 12 24 (&) 3 26 (8] 3 U 0 0 0
IMBRY — MRBEFT &K 5 24 €] 3 %2 0
EMoO—/(— 4 26 (8] 4 %4 8 %7 11 %11 12 %12
=
&)
FROEARH 12 24 (&) 4 26 (&) 0 1 - 0 0
(R#F) IRERTHRER 13 %5 15 %15 17 %17 17 %16 17 %17
ELBELH5N ER 5 24 (2] 4 28 €] 2 %2 7 %4 3 %3 5 %5
ATORER =@ 6 %1 6 19 3 %3 1 231 4 %4 1 %1
e 15 24 4 28 (&) 5 U 0 0 0
RESXF—HU - T —)LEHE 10 26 0 0 0 2 %2
ABEOF HHS 10 26 (8] 2 U 3 24 10 %10 2 %2




S5 4AAE

2 [&el [ APREIREBICHL. BHABHMN O ATED L EZRLTWVET .

E3  [RU] & BHABSENARTERLCEERLTVET,
E4 AFJEEED 1 DIBSE. EANRESNIBETNASDEIOT, FAH -1 ELTHBDFET,

—RFIARAEER(R—Y—=K)

1 (B B AR VS, BEIRGIICIDRELESEERLTVET,

0% 1% 2% 3% 4% 5i%
x x x x x x
it i 2 i3 I3 pﬁ &
x ) El R—4— El R—4— El R—4— El R—4— El R—4— El R—4—
5 5 5 5 5 5

FrUyaFr—HU—XI—-)LKS 15 26 (8] 2 %1 2 26 6 %6 11 %10
NRBREZESyF—I0F vy 5 %4 0 2 %1
FYXRIAIVIRTFA 10 24 4 %3 3 26 (8] 2 %2 3 %3
XACHEFE 9 %3 1 - 0 5 24 €] 0 0
FH 6 24 (2] 9 26 (2] 3 24 3 27 €] 0 1 231
REEIIILF—UIEERARE 8 26 3 16 €] 3 %3 6 %6 11 %11
JEI-REEBE 16 26 (&) 0 3 %1 0 0

n |EDE 9 | 24 1 -

[

& TV TESHEE 10 26 (&) 2 24 3 24 0 12 %12
=T 6 24 €] 1 - 2 26 (2] 4 27 (2] 0 4 %4
Fy IR AIVIEERT 6 24 4 26 (8] 4 24 0 1 %1 3 %3
ARANOSTF—HU—fFE 6 %3 0 1 -
20—/ UbFy XfESE 6 24 2 28 3 26 3 24 (8] 0 2 %2
FwX T+ —)L RMESERAIE 3 %1 1 - 1 -
HEZ 9 24 (&) 11 26 (8] 2 26 (8] 2 26 1 %1 0
EH 9 24 (2] 3 27 (2] 3 27 9 26 (2] 3 231 7 %3
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FEUY 6 24 (8] 1 - 4 26 3 24 0 0
ARAINOSTF—HU—Ki5 6 24 (8] 3 26 0 1 %1 2 %2 0
=L BELHB KI5 10 23 3 %1 12 %11 14 %14 7 %6
B LZADAELEBEEANS 10 %1 2 %1 10 %10 10 %10 10 %10
MIWARKIS A E 6 24 (&) 14 26 (8] 6 24 (8] 0 0 0
IL—X 6 U 7 %2 3 %2 1 U 0 1 %1
Y —=FR (@) 3 %3 2 %2 3 %3
RE—=FR (RE) 6 U 9 %3 0

R

[}
EBELHFSVEB-TH 5 24 2 U 5 %5 7 %7 5 %4
Y -REERBE 17 26 €] 6 24 €] 4 26 1 - 0
EBELHB FEHEB 6 24 5 26 (8] 3 U 4 %1 11 %11 13 %13
[Fo B> REBH 6 %1 10 %4 3 %2 5 %5 3 %3 2 %2
w5 10 22 4 28 (&) 3 23 8 %3 6 %6 7 %7
T -SESORERRKE 6 24 (2] 11 %1 4 %3 4 %3 2 %2 3 %3
ELBELH5 0 RGH] 6 24 (2] 4 26 (2] 0 2 2N 2 %1 2 %2
Kid's Patio STR&V=FE 4 %2 3 %2 1 %1
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A A A A A A
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x ) El R—4— El R—4— El R—4— El R—4— El R—4— El R—4—
5 5 5 5 5 5
=R 11 23 6 26 €= 7 24 6= 2 26 6= 2 24 G2 0
BELHHE 6 %4 14 26 (8] 2 U 6 %4 1 U 1 -
155 11 18 9 26 (&) 4 %1 0 1 %1 0
LIFE SCHOOUERZ EEDWLZ 4 %2 10 %5 2 %2 2 %1 6 %6 7 %7
Fy IR AIVIRIEER 15 %5 4 %4 5 %4 10 %10 4 %4
SMRNE<BAEF 6 24 (8] 10 26 (8] 3 26 (8] 3 24 5 %5 7 %7
FINBR 15 %13 6 %3 7 %7 0 6 %6
BBz vO—A 8 16 (8] 7 U 3 %1 2 U 0 3 %3
MIWAS > DA Z7 9 24 9 26 (&) 5 U 0 1 U 3 %3
(RFR) WS DAEMTO> ~ 3 24 (&) 9 26 (8] 6 %2 10 %6 12 %12 12 %12
TKFILRL X T 7 — LB 6 24 (&) 2 26 (8] 1 - 1 %1 1 %1 0
TKFILRL X T 7 — LABMEZR 6 24 (8] 1 - 2 %1 0 1 %1 1 %1
EEHRBFEELTF—HU— 12 24 €= 9 26 €= 4 U 2 26 €= 0 2 %2
8 \mxgRyES2 LT F—HU— 15 26 6= 4 %1 0 2 26 0
M
FROEM 6 24 (8] 5 26 (8] 1 %1 0 1 %1 2 %2
e<BEH5 S 6 24 2 26 2 U 6 %6 10 %10 6 %6
ZITFNIVHREEROUZEM 9 %1 11 26 (8] 3 %3 3 %3 7 %7 3 %3
2 10 24 (&) 6 28 5 U 6 %3 3 %1 1 %1
W50 AEMN 6 20 6 26 (&) 0 3 %2 2 %2 1 %1
BOIEHEBERAELT 4 %3 0 0
VFEDDFYIH—-FT M 5 24 (8] 8 27 5 24 0 1 U 1 %1
20—)UbFy XEilE 6 24 (8] 34 26 (&) 3 U 6 %2 0 2 %1
IRBEYTSA b
F—HU—-U—)L (53E) 9 24 (8] 21 16 (&)
SMFv >/ (R
IRBEYTSA b
F—HU—-U—)L (KE) 5 %1 10 %5 6 %3 10 %8 12 %12 7 %7
BRF /(R
Fy Ry hEM 9 24 6= 4 26 () 1 U 1 - 6 %6 2 %2
J0—/ULFyvXEMATH 16 26 (&) 2 %1 1 - 1 %1 0
TAOSAREREEM 6 24 6= 3 26 €= 1 %1 2 %2 6 %6 1 %1
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it i 2 i3 I3 pﬁ &
x £ = R—4— = R—4— = R—4— = R—4— = R—4— = R—4—
" " " " " "
INFRET AT E—ULAEKRT 9 24 [€5)) 33 24 [¢5)) 2 12U 12 %10 11 %7 5 %5
SillD<HT EEE 9 24 (8] 6 26 (8] 1 - 4 24 (&) 0 0
®Z 12 17 3 %2 2 %2 7 %6 8 %8
YMCAAU—T 12 %9 3 28 [€5)) 5 %2 9 %9 8 %8 6 %5
IRBFEYTSA hRY— bk
F—HU—-U—)L (53E) 9 15 31 26 (&)
BWEF )X
IRBFEYTSA hRY— bk
F—HU—-20—)L (KE) 6 24 6= 5 26 €= 1 - 0 5 %4 0
FZROFF )R
YMCA++FHI)LOd—h~ 9 24 9 26 [¢5)) 3 26 (=] 4 17 3 %3 0
BSIERBEERLDODD 4 %3 0 0
VEDDFYIH-FTUHE 9 %3 3 26 (] 4 24 6= 7 %5 2 %2 0
LDODSHYMCAZ EEE 6 24 (8] 6 26 (&) 0 9 24 (8] 0 0
B®EFrFIILO-b
F—HU—Z )L 9 24 [€5)) 3 28 3 26 [€5)) 5 24 1 %1 2 %2
20-)ULF Y XULODHE 15 26 [€5)) 0 2 12U 0 7 %7
FHABDFHS N\ EDL D
— b
REEESD 5 %3 1 1 249 3 %2 1 %1 5 %5
2
Pl F=HBU—)L—LRY—-RT—HRE 12 %4 3 28 9 %1 3 %2 1 %1 1 %1
HERE T 14 24 3 %2 1 — 6 %6 1 %1
HFBWN<EHE 16 25 2 26 3 %1 6 %5 11 11
FvIARYAIVIREH 10 26 [€5)) 2 26 0 0 1 %1
VEDDFYIH-FT>HH 20 26 4 24 2 24 [€5)) 10 %10 0
VEDDFYIH-FTHADHKR 6 24 (&) 9 21 9 %2 0 1 %1 6 %6
EAVNKREREBH 5 24 (&) 11 %4 3 %3 2 %1 8 %8 6 %6
BEKLSRER BH 10 %4 4 4 2 12U 14 %14 12 %12
REFAFHEBERC TR 9 24 6= 6 26 €= 1 - 4 24 (&) 0 0
ZFAFYIXB DB 6 %2 7 4 0 5 4 4 4 7 %7
REEZ 3 25 12 26 [€5)) 8 %3 9 %8 10 %10 5 %5
REE= 12 %6 1 — 1 %1 12 %11 14 %14 12 %12
KIBDOF #R 4 %2 6 21 1 231 2 231 5 %5 0
R 12 %8 3 26 (8] 3 %2 4 %4 4 %4 8 %8
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= & I B B e I B e B B e I e S B B B
# # # # # #
wFE= 1| 24 @ | o | 26 @ | 2| 2 @ |3 | 2 6 ms | 1 %1
DT 8 %8 1 %1
BlaESREE B8P 5 ma | a4 | 26 @ |1 mo| 2 m2 | 2 m2 | 6 6
DAURFYRRF 6 | 24 @ |6 | 26 @ | 2 mo| 2 | o 1 1
BrED 9 %8 3 28 (8] 2 U 2 %2 0 4 %4
Pt A, 2 e
s i) 6 2 |15 | 26 @ | 9 ma | 3 m2 | 8 ms | 6 %6
ICUWBRER &8F 6 %1 3 26 (2] 1 U 3 %2 1 U 7 %7
EDOUNFRAE RFE 3 w3 | s | mL 1 %1
TrTTUHBR 6 %1 6 27 3 U 2 %1 0 1 %1
wFEn 10 ma | 6 | 26  um | 8 ma | 2 mo| 3 w2 | 6 6
: 2J0—-)ULFy XBFE 6 %1 15 %9 3 24 8 %6 3 %3 2 %2
Y SAZFyAREE RFE 6 m3 | 1 1
RESZF—HU— 25— L &F 6| 26 wm | s | 2 @ |5 | 2 wm 3| 2 @ |o 0
AE-TURT—ILhsdnNE 6 24 3 26 (8] 0 0 1 231 0
wr 7| 26 | 4| s 5 ms | 3 w3 | 4 %3
ZIBI5ES 6 24 (8] 10 26 (&) 3 %2 1 - 3 %3 4 %3
FRUDHRREERR 6 24 8 26 (8] 1 - 1 %1 0 0
REES)LF -1 @PH 5 w3 | 4 2 | o 3 w3 | 7 w7 | 2 2
BFE_ 15 U 3 U 4 %4 6 %5 4 %4
®FzC3 E) 5 ma | 4 m2 | 1 1
®FCC3 (RE) 5 w3 | s | 26w | 6 w2 | 3 m2 | 2 m2 | 1 1
aFAm o | 24 @ | 3| 28 @ |3| 2 @ |[1]| - 0 1 %1
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A A A A A A
i i i i i i
) El R—4— El R—4— El R—4— El R—4— El R—4— El R—4—

" " " " " "
20—/ ULFy XEABE 6 24 (8] 4 26 (&) 3 26 3 26 4 %3 0
JYEI-RERBEAS 9 26 (&) 3 24 (8] 1 - 0 2 %2
EER 6 24 (8] 6 26 (8] 4 24 (8] 4 26 2 %2 0
IF-F—HU-—EAB 6 24 (2] 5 26 (&) 1 - 0 0 0
KEBHEL 9 26 (8] 1 U 0 3 %3 2 %2
FrU—FBRCLEBLF 5 12U 1 12U
KEEZ 11 26 (&) 5 U 5 %1 6 %6 1 12U
KEER 12 %4 4 26 (&) 5 U 2 22 2 %2 3 %3
ABEOF AERATH 6 24 (8] 6 26 (8] 3 20 0 2 %2 2 %2
HOPPABHUFEH > 6 26 3 %1 0 1 %1 3 %3
xE 15 26 (8] 4 17 3 %1 2 %2 3 %2
KBE= 14 24 8 %2 1 — 3 %3 6 %5
JOOSRA > —F23FILKE (K 6 54 5 26 &) 0
E2)]
JOOSRA > —F23FILKE (2 o o 1 1
E2)]
FYXRAIAIVIRKE 6 %2 4 26 (8] 1 - 0 5 %5 1 %1
hhiE 16 %5 9 26 [¢5)) 6 26 3 U 1 %1 0
KEEN 13 25 6 %3 2 %1 10 %9 3 %2
FRAURKS 6 %5 7 26 (8] 2 24 0 4 %4 2 %2
FvX T+ =)L RERASEREIE 3 %3 1 - 2 %2
nNE 11 %2 6 26 1 — 4 %3 0 1 %1
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2 a R—s— a R—s— a R—s— a R—s— a R—s— a R—s—
el 1| 24 @ |6 | 26 tm | 7| 26 | uwwm | 4| 26 w@ |2 | wmL 2 2
bl7% 12 26 (&) 2 24 12 %5 11 %11 0
ROLKTS S TIAE 6 w2 | s | 26 | um | 3 | 24 5 | 24 um | 7 me | 1 1
(RFR)D< L 2 26 (&) 4 26 6 26 (&) 10 %6 10 %8
sy 6 | 24 | s | 2 @ | 7| mL 3 | mL 3 3 | 2 %2
XA AT 5 mio| 6 | 26 | wm | 3 | wL 4 %3 | 6 %6 | 8 8
BOORNEREE IBE 6 ms | 3 3 | o
m':sye‘:‘;asyc:::;‘:m”a' 9 me | 3 | 28 | @ | o 0 0 1 1
WEREE 5 | 24 7 e ms | 3 | a4 ma | o 5o
INBR T~ MREFR 18 4 ma | 4 m2 | 1 51
[CUWBRER It 6 1 6 26 1 1 4 %3 11 11 3 %3
INERNEZ 10 16 (&) 6 26 (&) 3 25 7 AN 5 %5 3 %3
a5 10 %5 4 26 (&) 3 21 6 %3 4 %4 5 %5
BEE_ 11 %6 5 28 (&) 2 26 3 %2 4 %4 1 &1
BB IBE 6 w1 | a4 | 26 | wm | 1| - 3 R %2 | 6 6
HWE= 9 %6 5 %2 5 %3 4 %3 7 %7 1 1
HE— 12 %9 7 %6 6 &4 8 %8 4 &4
=1 12 %3 3 %3 5 %5 5 %5 7 %7
Y= —ZEREEW 30 %14 2 24 (&) 1 - 5 %2 6 %6
BB\ FBE 6 m | 6 ma | 3 mio| 1| - 3 %3 | s 5
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S = R—4— = R—4— = R—4— = R—4— = R—4— = R—4—
EELY 8 %4 10 129 9 %8 1 - 0 2 %2
EODORNEREE RILE 3 %3 7 %5 6 %6
AU—REZX @HIL—L 10 26 2 U 5 %5 8 %7 9 %9
BN 14 231 6 %4 5 %3 4 %4 1 %1
ICUWBRER =L 5 %4 10 %3 0 6 %6 6 %6 3 %3
FV AR A)VTERER 10 26 €] 2 U 0 0 2 %2
ms sl 8 %2 2 26 €] 5 U 2 %2 2 %2
[ 10 %3 5 27 4 26 €] 5 22 (2] 3 %3 1 U
BE= 17 %5 2 26 4 26 1 %1 1 %1
g 10 %5 4 26 €] 3 18 4 23 5 %5 3 %3
BER 19 %13 11 %9 3 %3
RU—LFvIS2R 11 %2 0 1 %1 4 %4 0
KIEDF @i2TH 6 24 €] 6 U 6 %5 2 231 3 %3 6 %5
FRLE] 7 %2 5 26 €] 3 %2 4 %4 1 %1 1 %1
20—/ Ub+y XEiE 6 24 (2] 9 26 €] 3 U 4 %2 1 %1 0
[ 16 %3 3 %2 1 - 1 U 3 %3
I—FIREE B 6 %1 4 26 €] 2 %2 1 U 0 0
mEs 6 24 (2] 10 26 €] 4 22 2 25 1 129 2 24
BEESREER FHELET 5 %1 9 22 1 231 4 %4 2 %2 3 %3
R 12 %5 5 26 (2] 2 26 7 %2 1 U 0
(RFR)OFEDD 7 26 7 %2 10 %5 10 %7 10 %6
AV 9 %7 2 25 5 %5 3 %3 2 %2
#rh 9 22 10 26 €] 2 24 4 %4 1 U 2 %2




